	
	
	
	


Polinomi
DELOVNI LIST 3


Izračunajte manjkajoči faktor?
	1.  

	f(x) = x3 + 1000  
= ( ? )(x2 - 10x + 100)



	
	2.  

f(x) = x3 + 12x2 + 17x - 90  
= ( ? )(x + 5)(x - 2)



	3.  

f(x) = -x3 + 4x2 - 4x  
= ( ? )(-x)(x - 2)


	4.  

f(x) = x3 - 1728  
= ( ? )(x2 + 12x + 144)



	5.  

f(x) = -4x3 + 28x2 + 120x  
= ( ? )(x + 3)(-4x)


	6.  

f(x) = x3 - 8x2 + 4x - 32  
= ( ? )(x - 8)



	7.  

f(x) = x3 - 1331  
= ( ? )(x2 + 11x + 121)


	8.  

f(x) = 3x3 - 48x2 + 144x  
= ( ? )(3x)(x - 4)



	9.  

f(x) = 64x3 - 512  
= ( ? )(16x2 + 32x + 64)


	10.  

f(x) = 4x3 - 68x2 + 264x  
= ( ? )(x - 6)(4x)



	11.  

f(x) = -2x3 + 6x2 + 56x  
= ( ? )(-2x)(x + 4)


	12.  

f(x) = x3 + 10x2 + 9x + 90  
= ( ? )(x + 10)



	13.  

f(x) = -4x3 + 16x2 + 20x  
= ( ? )(x - 5)(x + 1)


	14.  

f(x) = x3 + 8x2 - 3x - 24  
= ( ? )(x + 8)



	15.  

f(x) = 2x3 + 16x2 - 40x  
= ( ? )(x + 10)(x - 2)


	16.  

f(x) = -4x3 + 72x2 - 288x  
= ( ? )(x - 6)(x - 12)



	17.  

f(x) = 8x3 - 216  
= ( ? )(4x2 + 12x + 36)


	18.  

f(x) = x3 + 8x2 + 15x  
= ( ? )(x + 3)(x + 5)



	19.  

f(x) = x3 - 343  
= ( ? )(x2 + 7x + 49)


	20.  

f(x) = x3 + 5x2 - 11x - 55  
= ( ? )(x + 5)




